1.Multiple choice(2P*19，38Ｐ)
1.which one is NOT a fracture specific sign?

A.pain

B.Bone fricative

C.deformity

D.abnormal activity

2.tuberculosis of the spine first starts in?

A.vertebral body

B.nucleolus pulposus

C.annulus fibrosis

D.paravertebral joints

3.which is the most common malignant lesion of the bone of the following?

A.Chondroblastoma

B.Fibrosarcoma

C.Ewing”s sarcoma

D.Osteosarcoma

4.The active anterior drawer test (90 degree quadriceps active test) is used to assess the integrity of the :

A.Anterior cruciate ligament

B.posterior cruciate ligament

C.posteromedial capsular structures

D.posterolateral capsular structures

5.Which choice is not the typical symptoms of the congenital cholangiectasis?

A.Abdominal  pain

B.Abdominal  mass

C.Jaundice

D.Vomit
6.Which is the first choice for the diagnose of cholecystolithiasis?

A.Type-B ultrasonic

B.CT

C.MRI

D.MRCP

7.Which choice is not the function of the gallbladder?

A.Concentrate the bile

B.Drain the bile 

C.Secrete the mucus

D.Secrete the bile
8.Pancreatic endocreine tumors inculed several types except_?

A.Insulinoma

B.Gastrinoma

C.Glucagonoma

D.Parathroidoma

9.Which symptom is not the main complaint from a renal injury patient?    
A.Hematuria

B.Flank mass

C.Macroscopic pyuria

D.Shock

10.Which is frequently the first symptom from a Benign Prostate Hyperplasia patient?   
A.Frequent urination

B.Dysuria

C.Microscopic hematuria

D.Urgency

11. Which of the following choice is the best therapy for patients with 2 cm calculi in distal ureter?     
A.Extracorporeal shock wave lithotripsy

B.Percutaneous nephrolithotomy

C.Cystoscopic lithotripsy

D.Ureteroscopic lithotripsy

12. Patients with conservative treatment after renal injuries should stay in bed at least for               

A.5 days

B.1 week

C.2 weeks

D.1 month

13.For which type of thyroid carcinoma surgery is not the best treatment option?                                              

A.medullary thyroid carcinoma   B.papillary thyroid carcinoma

C.follicular thyroid carcinoma    D.anaplastic thyroid carcinoma
14.Which disease do not usually cause thyroid dysfunction?                          

A. Hashimoto's thyroiditis       B.acute thyroiditis

C.thyroid carcinoma            D.Graves disease
15.A 25-year-old postpartum woman was presented to the hospital with a mass in the breast, the mass was enlarging during lactation for 2 weeks, while the pain and redness of the overlying skin was developing. PE: T 38.2℃. what’s the most probable diagnosis?               

A. acute mastitis                B. fibroadenoma of breast

C. breast cyst disease            D. paget’s disease
16.Which of the following is the most frequent pathological type of breast cancer?                                               
A.lobular carcinoma in situ      B.ductal carcinoma in situ

C.invasive ductal carcinoma     D.invasive lobular carcinoma

17.Which is not included in the pathological types of lung cancer         

A. adenocarcinoma

    
    B. small cell lung cancer

C. squamous cell carcinoma         D. Glioma 

E.sarcoma

18.Which tissue is not one part of the esophagus                      

A. muscularis mucosa              B. muscularis propria

C. serous membrane               D. epithelium

E.lamina propria

19.Which examination is the most helpful for determining the T stage status of esophageal cancer                                                     

A. chest CT scan                  B. endoscopic ultrasound

C. Barium swallow                D. endoscopy

E.chest MRI

2.Noun explanation(4P*5，20Ｐ)

1. thyroid storm（cause, manifestation and treatment）
2. stress urinary incontinence:
3. Paget's Disease of Breast: 
4.  Mediastinum

5. Colles' fracture

3.Essay questions（8P*4，32Ｐ） 
1.  What is the cause of a nonunion?
2. The post-operative complications of thyroidectomy?  

3. What are the essential diagnoses of bladder carcinoma?
4. What is the  Complications of  Dudenal Ulcers,  clinical feature and treatment  of each complication?

4.Case analysis (10P)

This 62 year-old man with a long history of drinking was admitted to the hospital because of abdominal pain, abdominial  distension,vomiting for 8 hours. On admission, his blood pressure was140/80 mmHg, pulse rate 95/min and respiratory rate 24/min.He had abdominal tenderness without rebound tenderness. B-mode ultrasonic showed that the pancreat is swelling.The  leukocyte is 15*10^9.The hemodiastase is 1200U/dl.

Questions:

1. What is your diagnosis about the patient?
2. What differential diagnoses should you think about?
3. What examinations should do to confirm the diagnose.
4. What is the principle treatment to the patient?

